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Mathematics Mega Quiz For RRB NTPC 

 

Q1. A manufacturer sells an article to a wholesale dealer at a profit of 10%. The wholesale dealer 
sells it to a shopkeeper at 20% profit. The shop-keeper sells it to a customer for Rs 56,100 at a 
loss of 15%. Then the cost price of the article to the manufacturer is 

एक निर्मातम एक थोक डीलर को एक वस्त ु10% के लमभ पर बचेतम ह.ै थोक डीलर इस े20% के लमभ पर एक दकुमिदमर को 

बचेतम ह.ै दकुमिदमर इस े15% की हमनि पर 56,100 रुपय ेर्ें एक ग्रमहक को बचेतम ह.ैतो निर्मातम के नलए वस्त ुकम लमगत र्लू्य 

ककतिम ह ै 
(a) Rs. 25,000  
(b) Rs. 10,000 
(c) Rs. 50,000  
(d) Rs. 55,000 
 
Q2. A loss of 19% gets converted into a profit of 17% when the selling price is increased by Rs. 
162. The cost price of the article is  

19% की हमनि, 17% के लमभ र्ें पररवर्तात हो जमती ह,ै जब नवक्रय र्ूल्य र्ें 162 रु. की वनृि हो जमती ह।ै उस वस्त ुकम क्रय 

र्लू्य क्यम ह?ै  
(a) Rs. 450  
(b) Rs. 600 
(c) Rs. 360  
(d) Rs. 540 
 
Q3. A man purchased 150 pens at the rate of Rs. 12 per pen. He sold 50 pens at a gain of 10%. The 
percentage gain at which he must sell the remaining pens so as to gain 15% on the whole outlay is  

एक आदर्ी ि े12 रुपय ेप्रनत पिे की दर स े150 पिे खरीद.े उसि े50 पिे 10% के लमभ पर बचे कदए. उस ेशषे पिे ककति े

प्रनतशत लमभ पर बचेि ेचमनहए तमकक उस ेपरेु व्यय पर 15% कम लमभ हमनसल हो सके. 

(a) 21
1

2
%  

(b) 20% 
(c) 17%  

(d) 17
1

2
% 

 
Q4. A dealer sold two types of goods for Rs. 10,000 each. On one 
of them, he lost 20% and on the other he gained 20%. His gain 
or loss per cent in the entire transaction was 

एक व्यमपमरी दो प्रकमर की वस्तएु ं10,000 रु. प्रत्यके र्ें बचेतम ह।ै उिर्ें स ेएक पर, 

उस े20% की हमनि होती ह ैऔर दसूरी पर उस े20% लमभ प्रमप्त होगम. कुल लिेदिे 

र्ें उसकम लमभ यम हमनि प्रनतशत ककतिम रहम- 

(a) 2% loss/ हमनि  

(b) 2% gain/ लमभ 

(c) 4% gain/ लमभ  

(d) 4% loss/ हमनि 
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Q5. The cost price of 40 articles is the same as the selling price of 25 articles. Find the gain per 

cent.  

40 वस्तओुं कम क्रय र्लू्य 25 वस्तओुं के नवक्रय र्लू्य के सर्मि ह.ै लमभ प्रनतशत ज्ञमत कीनजये? 

(a) 65%  

(b) 60% 

(c) 15%  

(d) 75% 

 

Q6. A sells an article to B making a profit of 1/5 of his outlay. B sells it to C, gaining 20%. If C sells it 

for Rs. 600 and incurs a loss of 1/6 of his outlay, the cost price of A is  

A ककसी वस्त ुको B को बचेतम ह ैऔर उस व्यय पर उसे 1/5 कम लमभ प्रमप्त हुआ. B उस ेC को बचे दतेम ह,ै और 20% कम लमभ 

प्रमप्त करतम ह.ै यकद C उस े600 रूपए र्ें बचेतम ह ैऔर उस ेव्यय पर 1/6 की हमनि होती ह,ै A कम क्रय र्लू्य क्यम ह?ै 

(a) Rs. 600  

(b) Rs. 500 

(c) Rs. 720  

(d) Rs. 800 

 

Q7. A man has a certain amount with him. He spent 20% of that to buy an article and 5% of the 

remaining on transport. Then he gifted Rs. 120. If he is left with Rs. 1,400, the amount he spent on 

transport is  

एक आदर्ी के पमस एक निनित रमनश है. उसि ेएक वस्त ुखरीदि ेके नलए 20% और शषे कम 5% पररवहि पर खचा ककयम. किर 

उसि े120 रूपए उपहमर द ेकदए. अगर उसके पमस अब 1400 रूपए शषे ह,ै तो पररवहि पर खचा की गई रमनश क्यम ह?ै 

(a) Rs. 76  

(b) Rs. 61 

(c) Rs. 95  

(d) Rs. 80  

 

Q8. The population of a town is 3,11,250. The ratio of women to men is 43 : 40. If there are 24% 

literate among men and 8% literate among women, the total number of literate persons in the 

town is  

एक शहर की जिसखँ्यम 3, 11, 250 ह.ै र्नहलमओं और परुुषों कम अिुपमत 43 : 40 ह.ै यकद 24% परुुष नशनित हैं और 8% 

र्नहलमए ंनशनित हैं तो शहर र्ें नशनित व्यनियों की कुल सखं्यम ह:ै 

(a) 41,800  

(b) 48,900 

(c) 56,800  

(d) 99,600 

 

Q9. In an examination, 52% of the candidates failed in English and 42% failed in Mathematics. If 

17% failed in both the subjects, then the percentage of candidates, who passed in both the 

subjects, was 

एक परीिम र्ें, 52% छमत्र अंग्रजेी र्ें और 42% गनित र्ें अितुीिा रहत ेह.ै यकद 17% दोिों नवषयों र्ें अितुीिा है, तो दोिों 

नवषयों र्ें उत्तीिा छमत्रों कम प्रनतशत ककतिी है?  
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(a) 23  

(b) 21 

(c) 25  

(d) 22 

 

Q10. In an election there were only two candidates. One of the 

candidates secured 40% of votes and is defeated by the other 

candidate by 298 votes. The total number of votes polled is  

एक चिुमव र्ें केवल दो उम्र्ीदवमर थ.े एक उम्र्ीदवमर ि े40% वोट प्रमप्त ककए और 

दसूरे उम्र्ीदवमर ि े298 वोट स ेउस ेपरमनजत कर कदयम. र्तदमि ककए गए वोटों 

की कुल सखं्यम ह?ै 

(a) 745  

(b) 1460 

(c) 1490  

(d) 1500 

 

Q11. At a point on a horizontal line through the base of a monument, the angle of elevation of the 

top of the monument is found to be such that its tangent is 1/5. On walking 138 metres towards 

the monument the secant of the angle of elevation is found to be 
√𝟏𝟗𝟑

𝟏𝟐
. The height, of the monument 

(in metre) is. 

एक स्र्मरक के आधमर स ेिनैतज तल पर नस्थत एक बबदं ुस ेस्र्मरक के शीषा कम उन्नयि कोि इस प्रकमर पमयम जमतम ह ैकक इसकी 

स्पशाज्यम 1/5 ह।ै स्र्मरक की ओर 138 र्ीटर चलि ेपर उन्नयि कोि की कोरटज्यम 
√𝟏𝟗𝟑

𝟏𝟐
 पमई जमती ह।ै स्र्मरक की ऊंचमई (र्ीटर 

र्ें) ह:ै  

(a) 35 

(b) 49 

(c) 42 

(d) 56 

 

Q12. The angles of elevation of the top of a tower from two points A and B lying on the horizontal 

through the foot of the tower are respectively 15° and 30°. If A and B are on the same side of the 

tower and AB = 48 metre, then the height of the tower is: 

एक टमवर के पद स ेिनैतज रेखम पर नस्थत दो नबन्दओुं A व B से टमवर के शीषा के उन्नयि कोि क्रर्शः 15° और 30° हैं| यकद A 

व B, टमवर की सर्मि कदशम र्ें हों, और AB = 48 ह,ै तो टमवर की ऊंचमई क्यम ह?ै 

(a) 24√3 metre/ 24√3 र्ी  

(b) 24 metre/ 24 र्ी  

(c) 24 √2 metre/ 24 √2 र्ी  

(d) 96 metre / 96 र्ी  
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Q13. The angles of elevation of the top of a building from the top and bottom of a tree are x and y 

respectively. If the height of the tree is h metre, then, in metre, the height of the building is. 

एक पडे़ के शीषा और पद स ेएक इर्मरत के उन्नयि कोि क्रर्श: X और Y हैं। यकद पडे़ की ऊंचमई H र्ीटर ह,ै तो र्ीटर र्ें, 

इर्मरत की ऊंचमई ह।ै 

(a)  

(b)  

(c)  

(d)  

 

Q14. If the angle of elevation of the Sun changes from 30° to 45°, the length of the shadow of a 

pillar decreases by 20 metres. The height of the pillar is. 

यकद सयूा कम उन्नयि कोि 30 नडग्री स े45 नडग्री बदल जमतम है, तो एक खभंे की छमयम की लंबमई 20 र्ीटर तक घट जमती ह।ै 

खभं ेकी ऊंचमई ह।ै 

(a)  

(b)  

(c)  

(d)  

 

Q15. There are two vertical posts, one on each side of road, just opposite to each other. One post is 

108 metre high. From the top of this post, the angles of depression of the top and foot of the other 

post are 30° and 60° respectively. The height of the other post, in metre is. 

सड़क के दोिों ककिमरे पर एक दसूरे के नवपरीत दो लबंवत पोस्ट हैं. एक पोस्ट 108 र्ीटर ऊंचम ह।ै इस पोस्ट के शीषा से, शीषा 

कम अवियि कोि दसूरे पोस्ट के पद कम अवियि कोि और क्रर्श: 30 नडग्री और 60 नडग्री हैं। र्ीटर र्ें दसूरे पोस्ट की ऊंचमई 

ह।ै 

(a) 36 

(b) 72 

(c) 108 

(d) 110 

 

Q16. Two poles of equal heights are standing opposite to each 

other on either side of a road which is 100 m wide. From a point 

between them on road, angles of elevation of their tops are 30° 

and 60°. The height of each pole in metre, in 

सर्मि ऊंचमई वमल ेदो ध्रवु एक दसूरे के नवपरीत एक सड़क के दोिों तरि खड़ ेहैं जो 

100 र्ीटर चौड़ी ह.ै सड़क पर उिके बीच एक बबदं ुसे, उिके शीषा के उन्नयि कोि 

30 नडग्री और 60 नडग्री हैं. प्रत्यके ध्रवु की ऊंचमई र्ीटर र्ें ज्ञमत करो.  

(a) 25√3 

(b) 20√3 

(c) 28√3 

(d) 30√3 
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Q17. The angles of elevation of the top of a building and the top of the chimney on the proof of the 

building from a point on the ground are x and 45° respectively. The height of building is h metre. 

Then the height of the chimney, in metre, is : 

इर्मरत के शीषा के और जर्ीि के बबदं ुस ेइर्मरत के छत पर नचर्िी के शीषा के उन्नयि कोि क्रर्शः X और 45 नडग्री हैं। इर्मरत 

की ऊंचमई H र्ीटर ह।ै तो नचर्िी की ऊंचमई र्ीटर र्ें, ह:ै 

(a) h cot x + h 

(b) h cot x - h 

(c) h tan x - h 

(d) h tan x + h 

 

Q18. The angles of elevation of the top of a tower from a point A on the ground is 30°. On moving a 

distance of 20 metres towards the foot of the tower to a point B, the angle of elevation increases to 

60°. The height of the tower is 

जर्ीि पर एक बबदं ुA स ेएक टमवर के शीषा के उन्नयि कोि 30 नडग्री ह।ै टॉवर के पद की तरि 20 र्ीटर की दरूी पर एक बबदं ु

B तक जमि ेपर, उन्नयि कोि 60 नडग्री बढ़ जमतम ह।ै टमवर की ऊंचमई है 

(a) √(3 ) m/ √(3 ) र्ी 

(b) 5√3 m/ 5√3 र्ी  

(c) 10√3 m/ 10√3 र्ी  

(d) 20√3 m/ 20√3 र्ी  

 

Q19. A telegraph post is bent at a point above the ground due to storm. Its top just meets the 

ground at a distance of 8√3 metres from its foot and makes an angle of 30°, then the height of the 

post is 

एक टेलीग्रमि पोस्ट तिूमि के कमरि जर्ीि के ऊपर एक बबदं ुपर झकुम हुआ ह।ै इसकम शीषा जर्ीि स ेपरै स ेनसिा  8√3 र्ीटर 

की दरूी पर नर्लतम ह ैऔर 30 नडग्री कम कोि बिमतम है, तो पोस्ट की ऊंचमई ह ै

(a) 16 m/ 16 र्ी  

(b) 23 m/ 23 र्ी  

(c) 24 m/ 24 र्ी  

(d) 10 m/ 10 र्ी  

 

Q20. A ladder is resisting a wall at a height of 10 m. if the ladder is inclined with the ground at an 

angle of 30°, then the distance of the foot of the ladder from the wall is 

एक सीढ़ी दीवमर पर 10 र्ीटर की ऊंचमई पर रुकी हुई ह।ै यकद सीढ़ी जर्ीि के समथ 30 नडग्री के कोि पर झकुी है, तो दीवमर स े

सीढ़ी के परै की दरूी ह ै

(a)  

(b)  

(c)  

(d)  
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Q21. Factorise x² + 3x -18 

x² + 3x -18 कम गुििखडं करें 

(a) (x+18)(x+1) 

(b) (x+1)(x+18) 

(c) (x+6)(x-3) 

(d) (x-6)(x+3) 

 

Q22. Rohit walks at 17 km/hr and Ruchira cycles at 22 km/hr 

towards each other. What was the distance between them when 

they started if they meet after 44 minutes? 

रोनहत 17 कक.र्ी/घटंम पर चलतम ह ै और रुनचरम 22 कक.र्ी/घटंम पर समइककल 

चलमती ह ैऔर व ेएक दसूरे कक ओर बढ़ रह ेहैं. यकद वह 44 नर्िट बमद एक दसूरे स ेनर्लत ेहैं तो आरम्भ र्ें उिके र्ध्य कक दरूी 

ककतिी थी? 

(a) 42.9 km/ ककर्ी 

(b) 35.8 km/ ककर्ी 

(c) 21.5 km/ ककर्ी 

(d) 28.6 km/ककर्ी 

 

Q23. If sum of the roots of a quadratic equation is –7 and product of the roots is 12. Find the 

quadratic equation. 

यकद निघमत सर्ीकरि के र्लू कम योग –7 ह ैऔर र्लू कम गिुििल 12 है. निघमत सर्ीकरि ज्ञमत कीनजए।  

(a) x² + 7x + 12 = 0 

(b) x² – 7x + 12 = 0 

(c) x² – 7x – 12 = 0 

(d) x² + 7x – 12 = 0 

 

Q24. 20% discount is offered on an item. By applying a promo code the customer wins 10% cash 

back. What is the effective discount? 

एक वमस्त ुपर 20% कक छूट दी जमती ह.ै एक प्रोर्ो कोड लगमि ेपर कस्टर्र को 10% कैश बके प्रमप्त होतम ह.ै प्रभमवी छूट क्यम 

है? 

(a) 30.8 percent/प्रनतशत 

(b) 30 percent/प्रनतशत 

(c) 12 percent/प्रनतशत 

(d) 28 percent/प्रनतशत 

 

Q25. Reduce 2530/1430 to lowest terms.  

2530/1430 को न्यिूतर् पदों तक कर् कीनजय.े 

(a) 47/17 

(b) 23/13 

(c) 47/19 

(d) 29/17 
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Q26. If 5x – 3 ≥ 3 + x/2 and 4x – 2 ≤ 6 + x; then x can take which of the following values? 

यकद 5x – 3 ≥ 3 + x/2 और 4x – 2 ≤ 6 + x; तो निम्ननलनखत र्ें स ेx कम र्मि ज्ञमत करें. 

(a) 1 

(b) 2 

(c) –1 

(d) –2 

 

Q27. The first and last terms of an arithmetic progression are 32 and –43. If the sum of the series 

is –88, then it has how many terms? 

एक अकंगनितीय प्रगनत कम पहलम और आखरी पद 32 और -43 हैं. यकद श्रंखलम कम योग -88 है, तो इसर्ें ककति ेपद ह?ै 

(a) 16 

(b) 15 

(c) 17 

(d) 14 

 

Q28. The difference between simple and compound interests compounded annually on a certain 

sum of money for 2 years at 18% per annum is Rs 81. The sum is ____. 

2 वषों के नलए 18% प्रनत वमर्षाक की दर स ेनिनित रमनश पर, सयंोनजत होि ेवमल ेसमधमरि और चक्रवनृि ब्यमज के बीच कम 

अतंर 81 रु ह.ै योग क्यम ह?ै 

(a) Rs 2500 

(b) Rs 5000 

(c) Rs 10000 

(d) Rs 7500 

 

Q29. In what ratio is the segment joining (12, –1) and (–3, 4) divided by the Y axis? 

(12, –1) और (–3, 4) को जोड़ि ेवमल ेरेखमखडं को Y अि ककस अिपुमत र्ें नवभमनजत करतम है? 

(a) 4:1 

(b) 1:4 

(c) 4:3 

(d) 3:4 

 

Q30. The line passing through (4,3) and (y,0) is parallel to the 

line passing through (–1,–2) and (3,0). Find y? 

(4,3) और (y,0) स ेगजुरि ेवमली रेखम (–1,–2) और (3,0) स ेगजुरि ेवमली रेखम 

के सर्मिमतंर ह.ै Y ज्ञमत कीनजए? 

(a) –1 

(b) –2 

(c) 2 

(d) –5 
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